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Section 4.1 Complex #s
Section 4.2 Theory of Polynomials

Write the polynomial as the product of linear factors:

L)z 37-x" 4+5ix -8 | B
{La{haaa( e _ Ir._r.,_ﬂ_. ;.‘3 F(%):O,—Tms‘ 0‘--7' x= 3 wo
a5 T /; | et w2332, E0, 2 ,+18 CRATHIER s
0‘\,.34' t‘;*%ﬂ,ﬂ; % \;é for. twr X539

oy [ . .
w? 3 - sY -1
o 3| 3 [
i _J \ o «8
/
E) o} s O Sw—ee_"l'
x* x' c g
Ths sags L&)= Cx-)( 35+ s4)
7 Depressed Po’,w;_,:if
S‘é-— &""Jucﬂ;la) @m&ﬂa‘#f LA
'3): +S~\‘l =0 _
Desw (TION - #
31,’\' =—§:"f . ﬂuy\;"""’ ,ZMW /waL
$: m= _\B =X . o
] i T posiFVe SGUY
—— =3
q -
\f/ ‘K j(;& s MM,/W@L a‘p
NG Le Pramci -3
A CRE ST 5 - -
- /5'(’b - -3 = 3¢ 4
- ¢ i
- ’5(9- :' ':—' 'M“j hqry
P X0 NARRR!
* <2 = -\
= \

LY (x- 3 A xx 33)

“({ Fon= (x\/C’——g:u‘ Linean Lohns!
7/L'

ac‘?‘lfi -c a‘_‘+(
= & °"‘”‘ e Vel
=Py -

. fw I think WebAssign will accept this
3 (x- 2\ (% A (43 If not, do this trick:




230403.notebook

April 03, 2023

16. + 01 points

LarTrig10 4.2.054. [3883162]

in your answer.)

Function
g(x) = 5x% + 20x% + 44x — 10

Use the given zero to find all the zeros of the function. (Enter your answers as a comma-separated list. Include the given zero
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18.  + 0M points LarTrig9 4.2.080. [2456305]

Find a cubic polynomial function f with real coefficients that has the given complex zeros and x-intercept. (There are many

correct answers.) ) -
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In the case of a repeated root, that root gets counted twice (or however many times it's
repeated.

Use the given zero to find all the zeros of the function. (Enter your answers as a comma-separated list. Include the given zero
in your answer.)
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